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SN BAS
Ha: BANS AYFY
& FUNXEE WASYE & BHAANE XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 &AL2 I 16,000 0 16,000
OA2ste stitg M=Usl 16,000, 000& 16,000
SIS 4 31,670 31,670 0
ScleEEasEa4 T 31,670 31,670 0
301 et a = 31,670 31,670 0
05 8% -0 -tHESEHS 31,670 31,670 0
os&d=¢ 200,000& x9H x 123 21,600
OsHaNH= 200,000 x9H x2& 3,600
Os&sloasds=d 20,0003 x9& »12& #23| 4,320
Otttz =l 50,000& »43H 2,150
HY2IZH (BAS) 75,130 64,152 10,978
AR IHI(BAS) 29,471 23,972 5,499
ANEAG (BAS) 29,471 23,972 5,499
101 @14 dl 29,471 23,972 5,499
03 RIAHAZZ N E =+ 29,471 23,972 5,499
OFAZelgERY 29,471
aPAR== 1,096,480& x1H + 123 13,158
-G 1,096,480& 1H 4 & 4,386
“AZ2tel =g 9,340 +1H »22A1 2t+ 128 2,466
-Fe2RE 74,7603 18«22«12 1,795
=54 49,8403 *1H »52== 2,592
-AlRESsE 49,8403 1«10 499
-Jtat3g 1,096,480 x 128 x12% 1,579
- A S A 80,000 «1H x 128 960
-wE 2 A 60,000 «1H « 122 720
-2 2 F Ol 1,096, 480& *60%*23] 1,316
J2ZH(E4s) 45,659 40,180 5,479
23t (BEatsE) 45,659 40,180 5,479
201 YEt2 | 20,739 19,100 1,639
01 At 22l 7,739 6,700 1,039
ORM2Y AMRE2HI(ZBE) 7,739,000 7,739
02 =224l 13,000 12,400 600
OXIRB 10,500, 000& 10,500
O&ot=ER=3 1,000, 000& 1,000
OfERS 1,500, 000& 1,500
202 044l 15,040 13,120 1,920
01 = LH o4 1l 15,040 13,120 1,920
O22dEF 0l 1,600, 000& 1,600
OJl2ge+38uul(7Y) 13,440,000 13,440
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